Example1:
	
	Project 
	A
	
	Project 
	B

	
	Prob.
	Payoff
	
	Prob.
	Payoff

	
	0.2
	60
	
	0.4
	60

	
	0.8
	100
	
	0.6
	100

	Expected payoff 
	
	92
	
	
	84

	Risk (standard deviation)
	
	16
	
	
	20


For Project A:
Expected payoff = 0.2(60) + 0.8(100) = 92
Standard deviation = 
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  = 16
1- How did we calculate the expected payoff and the variability of the payoff for  project B?
       2- Which project is better?

Clearly, project A is a better since it has higher expected payoff with 
lower variability. 

In general:

· Two investments with the same deviation and different expected returns—choose the higher return

· Two investments with the same returns and different deviations—choose lower standard deviation

Example 2:  Here are two games
Game A:

Draw one card out of 52 card deck

You get 

2600     if

3
probability= 4/52 = 0.077
0
      if not 
3 
probability= 1- 0.08 or 48/52 = 0.923
Game B:

Draw one card out of 52 card deck

You get 

800       if 

spade

probability =


0
      if not 
spade 

probability =

	
	Game 
	A
	
	Game 
	B

	
	Prob.
	Payoff
	
	Prob.
	Payoff

	
	0.077
	2600
	
	0.25
	800

	
	0.923
	0
	
	0.75
	0

	Expected payoff 
	
	200
	
	
	200

	Risk (standard deviation)
	
	693
	
	
	346


Which game is worth taking? 
Both games have the same expected return. However, Game B is less risky than game A. Therefore, we should choose Game B.
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